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I Analyzing n73 of 991 2590 - and the mwn’s enumeration
a  Question: whom is the Rin considering — men or women (with the total possible mron, per any '7)?
i If: men - he should omit a woman bringing a nnna on her — and he would have 1 less
ii  If: women — he should omit sodomy and bestiality — and he would have 2 less
1 Answerl (721112 77): he is considering men; omit 7%» nnna nx’ann NWR and sodomy is 2 —per YRYHY?
(a) Sxypw: ‘1. each perspective of sodomy is a distinct n72 (@nxon) per vv. 1-2
(b) Challenge: we later establish niwn per ™, as only he allows for qTan’s liability for nxon
(i) Proposal: perhaps ™ agrees with 5Rynv’ '3 about 951 25Wn
1. Rejection: per 1aR "; since »" infers from vv. 1-2, total 2 mron; ™ infers both from v. 1- 1 nron
(ii) rather: YRynw 1 agrees with ™ about 9mn
(c) Challenge: if so, why not count both perspectives of bestiality (¥>» nnna x2an)?
(i) Answer: per »ar — YRynw’ 1 agrees that with nnna, only 1 nrVN/Md possible, as v. 2 is re: people
2 Answer2 (17): leave text as is - 33 mRVYN in our MWN; NNNA NR’IND NWR is there to complete list of N>
(a) Per: inclusion of n%m noy, for which no nron is brought (v. 3 — nkvn only for Nwa nYY)
(b) Therefore: they are only there to complete list of mn»3, same with ...nx"ann nwR
I Analyzing inclusion of naw %15°n
a  Challenge (to counting nawas 1): should be 39 mxron
i Answer (13112 73): reference is marYn 7t but he forgot it was naw (=1 nron, per interpretation of v. 4)
1 Challenge: why not refer to maxr5n niw (=39 mron per other interpertation of v. 4)?
2 Answer: he prefers naw nmw, which will at least be liable for 1
3 Parallel: nar nmay, which could have more if he was mw about the mmay only
(a) Tangent: definition of N1 NTI2Y NV
(i) Cannot be: where he was standing in a "y n>a and thought it was a nv> n’a — he intended onwb
(ii) Rather: he must have bowed to a statue
1. However: if he accepted it as a deity — n%po a»m; if he didn’t — not 1"y at all
(iii) Rather: must be nR1m nanrn (of a person)
1. However: that is only valid according to »ax, who maintains that there is 2vn for that
2. But: according to 813, who exempts — still no resolution
(iv) Rather: must be a case where someone thought 1"y was permitted
1. Support: X171 asked 11 how many mrvn is he liable if he was mTapay 1”ya aw — but only meant
to ask if he is liable for 1 or more — but certainly liable for at least one
(v) Alternate answer (979): could be a naw1w p1rn — who knows 1"y is prohibited, but not which one
(vi) Alternate: even an adult, who misunderstood v. 5, thinking only o anr are forbidden
b Answer (Np’8 717 7773 8NN "1 quoting »an 72 »2°2 *): the Rin is listing the category of naw and 1"y
i Proof: the mwn lists NNy nwR and W& NWR, even though 1Mo1RN N2 could also be there
1 In other words: nnay NWR is a “category”, of which 1nouRN N1 is a subset
(a) Block: the ®in only listed those that are explicit in 0710 (Yno1RN N1 inferred)
2 Yet: the ®an didn’t list nwx and her granddaughter — which are explicit
3 Challenge (Nn& “10n his own report): 271 "3 doesn’t accept “categories”
(a) Proof: he suggested that yina p»4a »ar n5yn and yna yin »ar n5yn would make 37 in our mwn
(b) Answer: 1"y1 naw are dealt with in detail in their own mnaon - here, can just mention “naw ow” etc.
(i) However: y1n »aRr nbyn and 029 »Mar nYyn aren’t detailed anywhere, therefore he expects more here
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III 7 "v’s question of 811’7 — if there are 2 mn»> but only 1185 —is there 1 or 2 mxon?
a  Retort: if nn "1 is referring to yina nbYym vmy, there are 2 IR
i Whether: inferred from v (nRan::nRan) or from wp’n (v. 6) — inferes IR from w1y — there are 2 IRY
b Rather: he must have meant 2 7”2 mmn with 1 &5 — 2% and "y
¢ Which is: dispute 9"awy/1my '
i Context: in T:1 P7TMV, both are listed (among n>’po *2Nn); yet in our Nwn, only 2R listed
1 a9 77 since there is one XY, only 1 nxron (our mwn selected "11R” as that is first in ®pn)
2 57awT because MmyT» is a n”arw Y (v. 3 implies that nrvn can only come for nwyn)
(a) 57aw7's reason for not accepting »*7's position (977): they are divided as two 772 nnon »avn
(i) »”rindivuation of mm isn’t meaningful without separate &>
(b) s reason for not accepting 5”aw7’s position: we've established that the author of our mwn is ™, who
holds that even without a nwyn, there is liability for nkon (e.g. 97n) >my7 is also 27n
(i) 57awr even Y™ requires some level of nwyn (RVIT NWYN) even if he doesn’t require Na7 NYYN
1. 238 5y bangs his arms against each other
2. 972 opens his lips (to curse)
(c) Assumption: banging his arms is a R0 NWYn — even to 1129 (and they would see 218 as nwyn 12 V)
(i) Challenge: 3> P7TNID RNALIN — in 1y, liability for nkNNNWYA, slaughtering, libating, burning incense
1. And: we challenged that by pointing out that nx1wnnwn has no nwyn
2. 572w follows ™ — no need for a nwyn
3. »71. even 1121 would agree — bending his body is a nwyn
a. Implication: 5”297 holds that 12327 do not regard nmp naad (1T NWPN) a a NwYn at all
(d) Rather: banging his arms is only a nwyn according to ™
(i) Challenge: if so, our mwn should except 218 Yva along with 9mn (12323, contra y™)
(if) Answerl: they only mentioned one of the two
1. And: they selected 9T, since the n7 is written 1299 mpna, 8”10 he is liable for nxon — Y"np
(iii) Answer2 (¥51): 1R Yy is someone who offers incense to a 7w (>all agree it is a nwyn)
1. Challenge (»27): that is 7t nm2y and should be subsumed under it
(iv) Rather (827): he is burning incense to the 7v to generate magic (1an 921n)
1. Challenge (»an): if so, that is 9an 721N
2. Answer (827): this is where 7an 7110 gets n%po (as 2R Hy1)
a.  Question(73x): then what is the 7an 72wn that is “just” a W5?
b. Answer (827): bringing animals together via incantations — even snakes and scorpions
3. Tangent (»aN): if someone tries to bring a bee and scorpion together (as occult act) — T7oR
a.  But: if they come on their own — 1mmn
(v) Revisiting »*7's answer (to 7xnnnw:): bending his body is a nwyn; if so, opening his lips should also
be a nwyn in re: 9Tn (and 1327 should agree with y”1 in our mwn)
1. Clarification (827): 9T is unique, as it is anchored in his heart (intent) — lips are just a vehicle
2. Challenge: mnmt o1y are exempted from mwn 102 19, as they have no nwyn —
a.  But: their “action” is »a Yy — not 292
b. Answer: since their main action is 1”&7 — not an action (parallel to 25 in qTin)
c.  (Note: this answer is difficult, as pnmit 07y are testifying about something they never re-
ally saw (j”an7) — owRY have various answers and 0’01 111 records a different version)
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